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thouopocepnobceuro ( real problem ? )
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has to end
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* with large expansion . T→o for ordinary radiation .
if any .

→ reheating : needed & produce ordinary matter . inflation gone

hot enough for baryogenesis , but smooth enough for no monopole or defects
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* Old by Goth (original) XD
gaIiEm no inf . inflation

true vacuum : ordinary expansion V09 < 8rad V0> → Prod Higgs ≠ inflation

fall vacuum : inflation → large .

all K∅) is in kinetic energy of bubbles ↑

they have to collide to release the energy & stop → too much inhomogeneities
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